Monteringsanvisning
Fonsterlds ASSA 2830

~ ~
Montera med genomgaende M5-skruvar.

Kan dven monteras med triskruv 4,0x40.
<

TN

Kapbar skruv MFX M5
TERE0ERED

Alt. TEX Spax S 4,0x40
P

ASSA OEM AB, Box 121 99, 402 42 Géteborg

" N\

OBS! Lossa skruven forsiktigt.
Vrid ej cylinder | forhéllande
till tappen nar skruven &r 16s.

OEM9028.1112.112 /KT 864

+46 (0)31-704 40 00, info.gbg@assaoem.se, www.assaoem.se


i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text
OEM9028.1112.112 / KT 864

i1564
Maskinskriven text


Fitting instructions
Window lock ASSA 2830

" N\

N.B. Loose the screw carefully.
The cylinder should not be
turned in relation to the pin
when the screw is loosened.

~ ~~
Fit with M5 screws that go through. Wood screws,
4,0x40, can also be used.

Cuttable screw MFX M5
[y THTEE

TFX Spax. S 4,0x40

m P OEM9028.1112.112 7 KT 864

T ASSAOEMAB, Box 12199, 402 42 Goteborg
ASSAABLOY  +46(0)31-704 40 00, info.gbg@assaoem.se, www.assaoem.se



i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text
OEM9028.1112.112 7 KT 864

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text

i1564
Maskinskriven text




